Assignment #6

CS 435

1. Write a C program to create a new utility called lsx. This will be same as Unix ls and must  handle the following switches, -a, -l, -F, and –R. Go the ls man page to find out exactly what these switches do. 

2. Create a C program, procs4, which creates a total of four processes. The original program will create two child processes and print out “A”, the child processes will each print “B1” and “B2” respectively. Only one of the child processes creates another process, and that process prints out “C”. Use the fork() system call to create processes, check PIDS and synchronize as needed.

3. Modify the procs4 program, and call it procs4a which runs the same as the original procs4, except that the prints must always occur as shown below
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